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Directions : In the following questions, you have a
brief passage with five questions following the
passage. Read the passage carefully and choose the
best answer to each question out of the four alterna-
tives and indicate your correct alternative.

It is common knowledge that the root cause of our
backwardness in most fields is illiteracy. Compaigns
for the eradication of this drawback gathered mo-
mentum in the past four decades after independence.
The results are, as expected, dramatic, dramatic.
However, while the percentage of literacy in india is
going up, the number of illiterates has also been
increasing, which is really incredible. Thus, according
to the 1991 census figures, there were 503 million
illiterates in the country, 30 million more than in 1981.
During the same period, the percentage of literacy
went up from 34 to 39 per cent. There is no need of
any sophisticated technique to explain the cause of
this paradox, as it is obviously the result of the rapid
growth of population. The rapid growth of population
has outpaced whatever little progress had been
achieved in literacy. For instance, from 1971 to 1981,
literacy increased at an annual average rate of 0.7
per cent, while the country's population grew by 2.15
per cent every year. In the following decade the
average rate of annual increase in literacy was 0.95
per cent, whereas the population grew by almost
2.85 per cent every year during that decade. But
population explosion is not entirely responsible for
the growing number of illiterates. The apathy of most
states in failing to tackle the problem of aduit illiteracy
is also partly to blame. Till now, they have shown little
awareness of the magnitude of the problem. More-
over, follow-up measures ot prevent neoliterates from
relapsing into illiteracy are just as important as the
initial asult literacy campaigns. In this case too, the



State Education authorities are negligent. Not suffi-
cient provision has been made for 'continued educa-
tion'. This can be done by setting up more rural
libraries, adult schools and correspondence courses.

106) Which of the following appears unbelievable accord-
ing to the passage ?
1) Growing illiteracy is owing to non-availability of
reading facilities to rural masses
2) Suffcient provision for continued education has not
been made
3) The increase in literacy per centage and also the
in number of illiterates
4) Population explosion is the only reason for in-
crease in the number of illiterates

107) The term 'Neo-literate' as used in the passage refers
to a person who
1) Is not literate
2) Has newly become literate
3) Is a little literate
4) Is a literate with no school education

108) In the passage, the rapid growth of population has
been attributed to
1) llliteracy
2) Apathy of government officials
3) Want of continued eduction
4) None of these

109) Which of the following is the same in meaning as the
word 'out-paced' as use of the passage?
1) Surpassed 2) Mullihed
3) Ruled out 4) Spoiled

110) 'Eradication' as used in the passage means
1) Removal 2) Destruction
3) Starvation 4) Evaporation

Directions : In the following questions, groups of
four words are given. In each group one word
misspelt. Find the mis-spelt word.

111)1) bureaucracy
3) prophecy

2) hypocricy
4) profligacy

112)1) Recuperate
3) Reinstate

2) Regulate
4) Seperate

113) 1) Cease 2) Seize
3) Beseige 4) Beseech
114) 1) syllable 2) solemn
3) seize 4) seige

115) 1) hooligan
3) honorarium

2) honourable
4) homogenious

Directions : Pick out the most effective word from
the given words to fill in the blanks to make the
sentence meaningfully complete.

116)Sundari's daughter is ........ old as Kusuma's son.

1) so 2) very
3) far 4) as
117)Rahul has a ....... faith in god and is very religious.
1) firm
2) severe
3) high
4) perfect
118) Tourists always enjoyed ............... the setting sun in
the Darjeeling hills.
1) to watch 2) watching
3) in seeling 4) seeing

119)The speacker did not properly space out his speech,

but wenton ........ one point only.
1) stressing 2) avoiding
3) devoting 4) decrying
120) After reaching Delhi, he would be ........ a detailed
letter.
1) writing 2) writes
3) wrote 4) written

Directions : Read each sentence to find out whether
there is any grammatical error or idiomatic error in it.
The error, if any, will be in one part of the sentence.
The letter of that part is the answer.

121)As the minister was (1) / very intelligent and hard
working, (2) / the King appointed him (3) / as his chief
advisor. (4)

122)Humour is a better way (1) / to provide social com-
mentary on (2) / controversy issues and some
movies (3) / do that successfully. (4)

123)He ate (1) / nothing (2) / since yesterday. (3) No error
4

124)An experimental vaccine (1) / has brought (2) /
glimmer of hope for malarial researcher. (3) No error

(4)

125) He had already prepare (1) / the acceptance speech
(2) / but the student of the year award (3) / was given
to Ravi. (4)

Directions : Which of the phrases. (1), (2) and (3)
given below each sentence should replace the
phrase printed in bold in the sentence to make it
grammatically correct. If the sentence is correct as it
is given and No Correction is Required, mark (4) as
the answer.

126) Naturally, with everything gone so well for them, it
was time for celebration.
1) go so well

2) going so well
3) gone as well
4) going as well



127) The ban was imposed by the state's commercial
taxes department last Friday after protests by a
certain community. which had threat to burn cinema
halls screening the controversial movie.

1) had threats of burning

2) had threated to burn

3) had threatened to burn

4) had threatened to burning

128) Rakesh, an avid football player who captained his
team in school and college, will inaugurate the
match tomorrow in Pune.

1) will be inaugurate

2) is inauguration

3) will inaugurating

4) No Correction Required

129) At a musical night organised for them, the artistic
side of the doctors came as forward, as they sang
beautifully and made the evening truly memorable.
1) come forward
2) come to the fore
3) came to the forth
4) came to the fore

130) Although scared of heights, she gather all her
courage and stood atop the 24-storey building to
participate in the activities.

1) gathered in the activities.
2) gathered all courageous
3) gather all courageous

4) is gathered all courage

131) Troal HepSed 565, & 5% wond S0 :
1) 64 sq. m 2) 70 sg.m
3) 78 sq. m 4) 84 sg.m

132)70a% Epen 24 20.%., 10 Ro.d. T ST,
BoepSed SB/m
1) 120 cm?, 52 cm
3) 240 cm?

2) 120 cm?, 64 cm
4) 240 cm?, 64 cm

133)3.5 0.5, FEH websos® S)éa)é 5 0.5. a‘§©°go
o HBo ?os;zi: S0 ¢
1) 7.5 cm?
3) 8.5 cm?

2) 7.75 cm?
4) 8.75 cm?

134)7 2o.. TgPgo o 5e)§oés SolBo £ 108° &0
FD o e I S0 ¢
1) 43.2 cm? 2) 44.2 cm?
3) 45.2 cm? 4) 46.2 cm?

135) 36 %0.20. 08 Ko w¥HFo e ?
1) 154 cm? 2) 168 cm?
3) 308 cm? 4) Data indequate
5) None of these

136)14% T5doiie @éé@é ST ¢
1) 22 m? 2) 77 m?
3) 154 m? 4) 308 m?
5) None of these

137) 8m x 6 m x 25m) Foden o ¢ro§ I
H0Sreasin ?
1) 120 litres
3) 12000 litres

2) 1200 litres
4) 120000 litres

138) (10 cm x 4 cm X 3 cm) 2¢ns SESDSH FTegsn.
1) 84 sq.m 2) 124 sq.m
3) 164 sg.m 4) 180 sg.m

139) A, B o (B8 $88 Scohvdoen 5: 3 aTnow. 4
Bon (880 A Sch, 4 Hon SHhars B Scbidd 1: 1
wond, Shard A k% 4 Hon 880 B S

AP J0&?
1)1:3 2)2:1 3)3:1
4H4:1 5) None of these

140)10 Hon 8o A Sk B $chos® bio. 0 bt
Sohdoen 31 4 o8, T8 [k Sohide Iwdo
Q08?

1) 20 years
3) 45 years

2) 30 years
4) None of these

141)(0.04)™ = ?

1) 25 2) 125 3) 250 4) 625
142)(17)%5 x (17)° = 178
1) 2.29 2) 2.75 3) 4.25 4) 4.5

143)e.8 ‘éosp;és 75% % 75 5993 $080 & “Goa:eg&:
OYH0H. VIPL Jogy :
1) 50 2) 60

3) 300 4) 400

144)35 823 2.8 Dogg RSE* 80%m E) Vonod. ©
Sogge® four - fifith Sokh Jod?

1) 70 2) 90 3) 120 4) 140

145)0 BogRS 12 s a§°ﬁ"s_o°, Prdode H6¢ ‘éoa:sés%
So&h ©H&Hok. 80&82603135 o8 Fid Qdogy o

PESD JEYS ?
1) 150 2) 200
3) 300 4) Data inadequate

146)5%0% . 340 8 oinKotod, &r. 350 & oo
59 5% 0% ergo Sob. 5P C.P. :
1) Rs. 50 2) Rs. 160
3) Rs. 200 4) Rs. 225

147)e.88 k8o Jendd & 400 Hood &r. 380 B
Shotody 2% wSorr 26;3@6657"&3. Fan C.P. :
1) Rs. 480 2) Rs. 500
3) Rs. 600 4) None of these



148)5% g8 SRV wsylody, 5% 26;3058 530
@é:&éo DendBod Sr. 15 QEYN Sod. SRIC.P. :
1) Rs. 150 2) Rs. 200
3) Rs. 250 4) Rs. 300

149)65eeaetorh 12-1% $508° Skd wdimd. of
S8 0t . S1.80 ©LEEEH w08 6% orgo
SHd. $%H CP.:
1)Rs. 280  2)Rs.300 3)Rs.380 4)Rs. 400

Paée _Qarér RI¢rX _2

1300 % P, Q, R, S o% %098, P awew :
1) Rs. 140 2) Rs. 160 3) Rs. 240 4)Rs. 320

151)Rs. 3500 A & a=ardo wdodoiie, 5 Jve E&hard
B g Dov 1 Hon 958 o ergrods 2 3
DB’ HoHBTTH. B Sreribo moer
1) Rs. 7500 2) Rs. 8000
3) Rs. 8500 4) Rs. 9000

152)e.8 S568® eibo 15 Hobd 45 Sfarod $02BHod.
10 Sfere SHhard 25 Hod Sed 088, Dize
e—sa’:"’éolm;osD A Sere I8 5;%30&.

1)29 & 2) 3ty
3) 42 4) 54

153)e.8t% a8 B 15 Ferod® S, 08 $0/88 w8
20 SFeren D, 082 2o T 25 Fwrost
BrH. woisr 0% @ H Q) Seres® Trk?
1) Less than 6 days 2) Exactly 6 days
3) Approximately 6.4 days 4) More than 10 days

154)e.8 &85 4 fo.08" a8 PHSn JoH&Hod. HF
ﬁ‘égéx 9 Ko.08® D pd 3‘@05. 3o ﬁ"’é:ge:é:
@S0 BOR, FHIoUTE BT Socho?

1) 4.5 hrs 2)5 hrs

3) 6.5 hrs 4) 7.2 hrs

155)808 &S° O Beo Ao KOKS® ?
1) 25 m/sec 2) 1500 m/ min
3) 90 km / hr 4) None of these

156)e.8% 6008 £PEDN) DR 50.08° wrertd @8
S50 kmph &8 Jog?
1) 3.6 2)7.2

3) 8.4 4) 10

157)144 km/ ph 3o, 100m £EH o Bend ¥ SBoéw
B0grR) Teeweds é§ J&ocho :
1) 2.5 sec 2) 4.25 sec
3) 5 sec 4) 12.5 sec

158)63 kmph 3o, 280m €D e Seotd 2.8 B
TOTR8 $F ol
1) 15sec 2) 16sec

3) 18 sec  4) 20sec

159)8n 7.20, Sen 5.70 3.2, NS Botd Ssre adiygo
TR A O IYBS® 5028 (@S0 98 S
16.50/ 3.2. ©HHod?
1)1:3
3)3:4

2)2:3
H4:5

160)5) 9, 2009 Kod b 21, 2003 S8 7% Sew &
@i 1820 odend S.I.
1) Rs. 22.50
3) Rs. 28.80

2) Rs. 27.30
4) Rs. 29

161)4% S.|. Bend® a8td & 5000 w5y SHFY Jows
© Gapd 6% S & noFEas ehpm sTh. &

Todo EEEoS® w88 SO e
1) Rs. 112.50 2) Rs. 125
3) Rs. 150 4) Rs. 167.50

162)6. 250003 3 Ho.0% 12% p.a.8® Ty C.I.
1) Rs. 9000.30 2) Rs. 9720
3) Rs. 10123.20 4) Rs. 10483.20
5) None of these

163)206 & i Fodite égsé;esgoo PED. ey
8o 23 . TR FTegn ?
1) 1520 m2
3) 2480 m?

2) 2420 m?
4) 2520 m?

164)e.8 ©5S $&2T oS’ 20%, Ikens® 10%
8lod. T ITege Sihde TPED

1) 10% 2) 10.08% 3) 20% 4) 28%

165)e.8 S&B(0 BPo FEH 20 0.8, wond, TR ey
o :
1)10V2 cm
3)40 V2 cm

2) 40 cm
4) 200 cm

166) S5’ S Lo555EF, et ©EEErod® Sroe Sk SSsgs
BEPSPS Bomgs® efTren &%) Y ade vfores ‘BUC
KET o3 $t5508® eamon?

1)1 2)2 3)3 4) 4
167)=.% SE&° 20689 % AMQTP e 17654 % BIGFL

R, 287707 & o8 S5 dor (x> ?

1) ATHIMI 2) ATMMIM

3) ATLLML 4) ATPPMP

168) REASON &%) 8% 5, BELIEVED &%) 8% 7, GOV-
ERNMENT &%), 858 Qo&?

1) 8 2) 10 3)9 4) 6

169) ADJUST &°& JDATSU ewox&, VERIFY && d0?
1) REVFYI 2) REVYFI
3) ERVYFI 4) VRFYIF

170) In a certain code ‘ri fa seeb ku’ means ‘non for fast
service’, ‘'seeb ri tub’ means ‘service for business’.
What is the code of ‘for’?

Dri 2) seek 3) tub
4) Cannot bedetermined

171) SeeR HJerds @, HJLrdd oXd o, ©EI ool
o, BFH B§ o, BEL PG © o, Lobe
AHE ASdFow?

1) £ 2) e
3 &E 4) 0



172) 108 : ey 1 TTISE : ?

1) KBoarsdHE 2) FPBED
3) 2 4) @5
173) BLOCKED : YOLXPVW : : ? : OZFMMXS
1) DEBATE 2) RESULT
3) LABOR 4) LAUNCH
174) 1) d3%es 2) 388%0
3) deBes 4) $oh0%D
175)1) FGBC 2) 1IJOP
3) LMHI 4) ACEG
176) 1) 5379 2) 1826
3) 1593 4) 3179
177)134, 245, 356, 467, (?)
1) 579 2)568 3)578 4) 478
178)A,C,F, H,?, M
1)L 2)K 3)J 4) |
179) __aba__ba ab
1) abbba 2) abbab
3) baabb 4) bbaba

180) @ @o

D
K &

0
S R

(XD

Q)6 27 3)8 49

181) & (8od Léé)é:aés 55?02608923 S0k, Ehaed BONS ‘60 «o
A DTHow?
36 2563626466769 6 2617
6 6 3 6 5
D1 2) 2 3)3
4) 3 80& aéa&zé

182) If '+ edre ‘X', ‘= @l ‘+, ‘X ol ‘~, and  ‘+’

wdre '+ then the value of
16+64-8x4+2=7
)12  2)16 3) 18 4) 24
183) 2.588%e efohsdn Doepd JegB8 eddogorr SESFACR.
Fodirisn ST, BHEIDH 80h, e HEIHH 8dAch.
FRErSin I8, Hde HEIHE 80A0R. v W
&ESH wddwyomr sod ?

1) 885w 2) &8easiw
3) éa's%?gzﬁw 4) Jeod

184) ‘X’ 88k JHr SuSesn Ideoepd. 5 b, SEDS
Ehard, JELFHS 88 3 H. B8, s HEZHD
88A, 5 . a0, R X D o wPSwporr
é)saéo ?

1) éa%"’:éego 2) &§es0
3) &&%o 4) S0

185) M, V' &8 H5r6gs, ‘N &g do&, M, ‘P &
O’ B SR8, (8od JsTrod® D& ©SBEsD ?
) PV @), 8560t
i) N @), 8, V' @ws) Hiosoeen
1) 1 SooEsd 2) 2 Loessd
3) 1 S 2 4) 1 S8

186) A $ B o A, ‘B’ &g P, B C e B, 'C
S T, C @D wire C, ‘D’ &), geds, £00aso A
#Dose A, ‘D’ Go¥) 6% oand, C A’ $ do° 200D
?
1) sy 2) b8
3) gy S B 4) 39

187) 2.8 881588° 46 £088° we T8 12, VL6 Kod W

D'°§O§ 08 ?
1) 33 2) 34
3) 35 4) 37

188) c5H80( BoB B FED. o8 Vs> S8 PEDHE, Dgrh
o5 o8 FEDH. B woid SoB FED. dossd o
FEHe wrborr JOBES o8 SoRd A5G ?

1) ¥ 2) %ozrQ
3) 8ol 4) o8

189) & En¥) Sreoth I Frw adwESR. T8 o
aS HodEnS® Sowdh 2% oddogorr DN Soaddd
$HBoTR ?

(i) (if) (iii)
1) 6 2)5 3)3 4) 1
190) & (808 QTR $0800Y, &8 ¥ PR Sripire TEH

Hoosodk.
English Hindi

e

Tamil
1) L+M+O

191) 1) 32
3) 29

2) K+Jl
2) 30
4) 28

3) K 4) |

192) B &riodrdy e 2T, A adoirdy YTk, 9
SrHSrEES A wFo SrED S o, SV (8
Both &rgH B ol el Sodrds. B 27 S8y el
5%3385068 3&@@_33, A Do BodT ?

1) 30 &&en 2) 60 Degen
3) 72 dgen 4) 90 ggen



193) oN[/© 9 * 0 !;\)\OO/O/O/
L

194) @@@ ? 5{1}\8\»{{1

A B c D 1 2 a
195) 124, 235, 346, 457, (?)
1) 579 2) 568 3) 578 4) 478
196) 0, 6, 24, 60, 120, (?)
1) 220 2) 210 3) 204  4) 240
197A,C,F,H,?2, M
DL 2K 3)J 4) 1
198)BDF. CFI, DHL, ?
1) EJO 2) EML 3) CM 4) EMI

199) MATHER & KYRFCP @o»&, UNCLE &&

A ?
1) SLAJC 2) SLACJ
3) SIALC 4) SALCJ

200) S5 2008 $rg) 35 3ad DT, © JosGBos®
BHYER ¥Daeo e, Hd O Slee Hod ?

1) SorFaeso 2) WHoaeSo
3) B0 4) &S0




1) 4
7)3
13) 3
19) 4
25) 4
31) 4
37)1
43) 3
49) 4
55) 2
61) 3
67) 3
73) 2
79) 1
85) 3
91) 3
97) 3
103) 2
109) 1
115) 4
121) 2
127) 3
133) 4
139) 3
145) 2
151) 4
157) 1
163) 4
169) 2
175) 4
181) 3
187) 3
193) 5
199) 1

2)1
8) 4
14) 3
20) 4
26) 1
32)1
38) 4
44) 2
50) 1
56) 2
62) 1
68) 1
74) 1
80) 4
86) 3
92) 4
98) 1
104) 3
110) 2
116) 4
122) 3
128) 4
134) 4
140) 4
146) 3
152) 3
158) 2
164) 4
170) 4
176) 2
182) 2
188) 4
194) 5
200) 2

2330°200
3)2 44
9) 3 10) 1
151  16)1
21)2  22)2
27)2  28)4
33)4 34)3
39)4  40)3
45)2  46) 3
51)4  52)4
57)1  58)2
63)4  64)1
69)2 70)3
75)1  76)4
8l)2 821
87)3 88)2
93)3  94)2
99)4  100)4
105)1  106) 3
11)2  112)4
117)1  118) 2
123)1 124)3
129)3 130) 1
135)6  136) 2
141)2 142)4
147)4 148) 4
153)3 154)4
159) 2 160) 2
165)3 166) 1
171)2 172)4
177)3  178) 2
183)1 184) 2
189)1  190) 2
195)2  196) 2

5) 4
11) 1
17) 3
23) 3
29) 4
35) 1
41) 3
47) 2
53) 2
59) 2
65) 4
71) 1
77) 4
83) 2
89) 4
95) 2
101) 1
107) 3
113) 3
119) 1
125) 1
131) 2
137) 4
143) 3
149) 2
155) 4
161) 1
167) 1
173) 4
179) 2
185) 1
191) 2
197) 2

6) 4
12) 2
18) 1
24) 3
30) 1
36) 4
42) 2
48) 1
54) 4
60) 1
66) 1
72) 4
78) 1
84) 1
90) 2
96) 1
102) 3
108) 4
114) 4
120) 4
126) 2
132) 1
138) 3
144) 4
150) 2
156) 2
162) 3
168) 3
174) 4
180) 2
186) 4
192) 1
198) 1

DSBeaen
131)Perimeter of the rhombus = 56m. Each side of the

56 _
4m—14m.

rhombus =
Height of the rhombus =5 m.
oeArea = (14 x 5) m? = 70 m2,

132)Area:idd :(ix 24 x 10) cm? = 120 cm?
OA= =d, =(= x24)cm=12 D'
= 5 d =(% x24)cm=12cm. '
OB = %dz (%xlO)cm=5cm. AB
AB? = OA? + OB? = (12)2 + 52 =169  AB = 13cm.

<« Permeter = (13 x 14) cm =52 cm.

133)Area of the sector ( % xarc X R) = (%x 3.5 x5) cm?

=8.75cm?

108 2
360 /Ao CM

4) Area of the sector = TFR%: ( %x 7X7X
= 46.2 cm?
135)TTR +2R =36« (MT+2)R=36 <R = ﬁ
36 x 7 !
36 '
136)Area of the semicircle = iTIRZ =( ?x 272x 7 x 7)m?

f =77 m?
137)Capacity of the tank = Volume of the tank

= (8100 x 6 X 100 x 2.5 X 100 ) jitres
1000

= 120000 litres.
138)Surface area=[2 (10 x4 +4 x 3 + 10 x 3 )] cm?

= (2 x82) cm? = 164 cm?
139)Let the present ages of A and B be 5x and 3x years

respectively.

5x -4 _ 1

Then 3 rd -1

Sbx-4=3x+4 & 2x=8<x=4

o Required ratio = (5x + 4) : (3x-4)=24:8=3:1.
140)Let the ages of A and B 10 years ago be x and 2x

years respectively.

x-10 _ 3

Then 75 =4 =4+ 10) = 3(2x + 10) & 2x = 10

< x=5.
<+ Sum of their present ages = (x + 10) + (2x + 10)

= (3x + 20) = 35 years.

3 3
141)(0.04)* = ( 100)15 (2—15) = (25) = (59 2250
= 5° = 125,



142)Let (17)%° x (17)* = 178 Then, (17)%° + x = (17)8.
ee35+x=8 e x=(8-35) < x=45.
143)Let the number be X, Then,

75 3
0, L -
75% of X + 75 = X &X 100x 75 & X 4x 75

=754 x = 300.
144)Let the number be X,

35-80, .80 _35x100
Then, x - 35 100x X 100x 35 & x 20
4

= 1756? X = 140.

145)Let the numbers be x and y. Then. %: _1)/5(: X = 3y.

<+Requiredpercentage = (X—;,Lx 100)%:(—2y1 x 100)%

= 200%.
146)Let C.P. be Rs. x. Then, 5% of x = (350 - 340) = 10

55510 = x= 200,
147)Let C.P. be Rs. x. Then, 2% of x = (400 - 380) = 20

5g9=20 = x=1000.

148)Let C.P. be Rs. x. Then, 109 x. 95 10x

= =2 15=—— =
100 100 X T 50

15 = x = 150. q
149)Let C.P. be Rs. x. Then, (106% fo x ) - (87 75 % of x)

=51.80
~183% of x =51.80 =x = ( 2182002 - g9
150)P = 2x £0805%0 Q = 3X @& 08 @& 0ds,
Q.2 .3 ,_,3 _ 9
= R= =(=xX3=—
R 3 2 Q (2 )
E:L:S:iRz(iX%):&.
S 3 2 2 27 2
svaaegpzzx,P:2x,Q=3x,R=%ands:E‘.
9x,27 1300

ooP+Q+R+S 1300©(ZX+3X+?+7
& (Bx + 12x + 18x + 27x)
=5200

©65x=5200 « x=-2200
65

= 80.

o« P aeér® = Rs. (2 x 80) = Rs. 160.

151)Let B's capital be Rs. x.

Then «14x = 126000 < x=9000.

3500x 12 _ 2
7X 3

152)10 Serer $%ars : 35 Seredrin 150 Hobd Fabo
Bz

125 006 xBfearen Serdo D @008,
BENS Soosven, BN SPewen

e 125 : 150 :: 35 : X & 125 x x= 150x35 «

_ 150x35
125

ke w580 42 Seren KODHOH.

voy oL 1 1 47
153)50790 2.8 B O = ({5+ 35 *35) = 200

e 0BB DR =%= 6.4 SPares® B 8 T
154)1 Kond® Do AECeHED = (- =) =oe

eX=42.

50 5”(3@% % = 7.2 Konos® Jotkhéod.
155)25 m/sec = (25x 18) km/hr = 90 km/hr.
5
And, 25 m/sec = (25 x 60) m/min = 1500 m/min.

So, all the three speeds are equal.

156)Speed = 56x0600 ) m/sec = 2 m/sec = (2x ) km/hr
= 7.2 km/hr.
157)Speed = = (144x i)m/sec =40 m /sec.
Time taken = ( 100 )sec = 2.5 sec.
158)Speed = (63x )m/sec = 325 m /sec.

Time taken = (280x E )sec = 16 sec.
159) By the rule of alligation :
Cost of 1 kg rice of 1st kind

720p

Cost of 1 kg rice of 2st kind

570 p
Mean pnce/

630 p

90
‘. Required ratio =60:90=2: 3.

160)Time = (22 + 30 + 21) days = 73 days = iyear.
15 o
s S.I.=Rs.[1820 x == > 5 100]—

2 2
—5x \ ( 5001(())%4x2\]

Rs. 27.30.

161)Gain in 2 yrs. = Rs.[(SOOO X X 100"

= Rs.(652 - 400) = Rs. 225.

J.Gainin 1 year = Rs. (== 225 ) = Rs. 112.50.

162)Amount = Rs. (25000X(1+ 100 )2)
Rs. (25000x-28 x 28 %28,
= RS. 35123.20

«« C.I. = Rs. (35123.20 - 25000) = Rs. 10123.20.



163)We have : (I-b)=23and 2 (I + b) =206 or (I + b)

=103.

Solving the two equations, we get : | = 63 and b = 40.

<+ Area = (I x b) = (63 x 40) m? = 2520 m2.
164)£00t0E) 6D = X ; 2.633065326& ey = y 00808

3?&0?3065 Brpde = xy-

7
=25 Y

S Bipio B - (25 Xy XWX 100) % = 28%.

- 18
100 100y) (xy - _xy)

165)d = 1/_ 2x|l 1=20
o 2 4x20 1/_
~«Perimeter = (4l) cm = (=25 e V_)cm 40 V2 cm.
166) B U C K E T
2 21 11 5 20
0 28 a8 28 dHendHroeod.
167) [2]0]6|8]|9| Hoosm |1]7[6]5]4
AM|Q|T|P B|I|G|F|L

287707 = ATIIMI
168)(@3& oEore Jw&dw) - 1.
REASON &3 $5508® 6 efores Hamom.
808,(6-1)= 5
o5 dgore, (BELIEVED -1) = (8-1) = 7
H8csw, (GOVERNMENT -1)=10-1=9

| | }

ADJUST=JDATSU
1 ||

169)
£ 7

Hence VERIFY = REVYFI
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